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s2. G2sf = (62s1r = (5a )r = 51"^r J 

-- 5: - 
' 
rt.

tl
s3. qr{r (10000)4 =(100)',. rq, (too)n =(to2)'.

lo^11
... t02, = l0\'^;l = l0r = 2x=l = x=!.

I_ I _(7L4.6)_(7+4\6)_(7 l4iri).s4. ;= (7:;5. (?*J5= (4e-48)

'. l-.1)=rr-a.f1 *12++.61 = t4+x+!+2=
\ x./ r

14+2=16

=(r.*) J;'1 G*
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_lt
x = 6 + 2J 2 t + ! = ----:--o-,x (3 + 2.12)

_(3-2"t ) _B_zJrl
(e-8)

Q-zJr)
G_M

,+f = 6= )' = o' -,' + \*2 =x=> r' *\ =3a
Ix+-
x

(, l)+lx + 2-l
\ j,/

lll
s6. { rI{ 6$fr t 22, 36, 43

2,6,3,4;6IEoqo:12.

' =1t41'=, so+[,a *{*r)=,,ru =
I

+ --T
-x

x =11544

I
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lllll
=(26)rz =16ayu, l; =(l'),2 =(9)D. +

lll
t =(,to)', =(zs6)i = (5r)rz = 11251t2

wivorQqsrt (zso)'' 3i*Itd VA

{,r{+'r'frt z

II
1, +r, 64 dql 2, 3, 4 6-t EIo€o = 12

.l
22

_t

I:tIIllII
zz =(zu)n =10+yu,ai =(+a)rz =(zsr)u aur 6,r =(6r)rz =(2loyu
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